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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 8706 4.9 1.9 7 69.8 99.9

2 8704 2.8 1.8 7 40.1 99.9

3 8709 2.2 1.2 4 55.4 100

4 8642 2.8 1.2 6 46.1 99.2

5 8697 3.7 1.6 6 61.4 99.8

6 8707 3.3 1.7 6 55.7 99.9

7 8700 2.1 1.5 6 35 99.9

8 8697 1.6 1.4 5 31.5 99.8

9 8661 2.5 2.1 7 35.3 99.4

10 8603 2.7 1.3 6 45.8 98.8
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Question 
Number 


FT HT Sub-section Mark Answer Accept Neutral answer Do not 
accept 


7 1 (a)   3 B (1) 
 
m pt lower than room temperature/20°C (1) 
 
b pt higher than room temperature/20°C (1) 
 


D m pt < 20 (1) 
A/C/E b pt > 20 (1) 


m pt low / b pt high  


  (b)   3 E (1) 
 
good conductor of electricity (1) 
 
high m pt/b pt (1) 
 


C  high m pt/b pt 
(1) 
B good conductor 
(1) 


  


  (c)   1 malleable / ductile / high density / 
good conductor of heat / shiny / 
(generally) hard / sonorous / magnetic 
 


rust / strong good conductor / 
heavy / density 


 


 
 
 
 
 
 
  












Sticky Note

3 marks - Correctly identified B (1st mark) and has related the melting point to room temp. (2nd mark), stating it is lower. Has also correctly related b.pt to room temp., stating it is higher (3rd mark).



Sticky Note

2 marks. Correctly identified E (1 Mark) and has given one correct property- good conductor of electricity (Mark 2). Stating that iron is solid is insufficient for 3rd mark



Sticky Note

1 mark - correct property given.



Sticky Note

Total - 6 marks.












Sticky Note

1 mark - Has not given B but D is allowed if stated that melting point is under 20°C. Stating boiling point is also under 20°C was ignored.



Sticky Note

3 marks - Has given E (1 mark) and given high m.pt/b.pt (1 mark) and good electrical conductor (1 mark).



Sticky Note

1 mark - has given correct metallic property.



Sticky Note

Total - 5 marks.












Sticky Note

2 marks - Has identified B (1 mark) . Has not clearly compared m.pt nor b.pt to the given temperature but in mentioning their values gets one of these marks (1 mark).



Sticky Note

3 marks - Has identified E (1 mark) and has given 2 correct properties (2 marks) from table. Either m.pt OR b.pt is sufficient for one of these marks.



Sticky Note

1 mark - has specified good heat conductor. Here candidates have to specify heat or thermal conduction as electrical is given in table and 'conductor' alone is insufficient.



Sticky Note

Total - 6 marks.
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Answer all questions.
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1.	 The following table contains some information about five elements, A, B, C, D and E.


Element Melting point (°C) Boiling point (°C) Electrical conductivity


A 113 445 poor


B −39 357 good


C 3550 4828 poor


D −101 −35 poor


E 1540 2750 good


	 (a)	 Give the letter of the element, A-E, that is a liquid at 20 °C. Explain your choice.	 [3]


	


	


	


	 (b)	 State which element could be iron and explain your choice.	 [3]


	


	


	


	 (c)	 State one property of iron that is not mentioned in the table.	 [1]
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Question 
Number 


FT HT Sub-section Mark Answer Accept Neutral answer Do not accept 


8 2 (a) (i)  1 C8H18 
 


 octane  


   (ii)  1 cracking 
 


   


  (b) (i)  1 goes milky/cloudy/white because carbon 
dioxide is given off 
 


   


   (ii) I 2 (colourless) liquid / water (1) 
forms when hydrogen burns (1) 
 
 


   


    II 2 no change (1) 
no carbon dioxide given off because no 
carbon present in fuel / hydrogen does not 
burn to give carbon dioxide (1) 
 
 


   


 
 
 
  












Sticky Note

0 mark - incorrect.



Sticky Note

1 mark.







Sticky Note

0 mark - Has correctly stated that limewater turns cloudy but has failed to link this to the presence of carbon dioxide.



Sticky Note

2 marks - Has correctly stated that water is seen (1 mark) and then stated that it is because the oxygen has reacted with hydrogen (2nd mark).



Sticky Note

1 mark - Has correctly stated that there is no change in limewater (1 mark) but has failed give a correct reason i.e. that no carbon dioxide is formed.



Sticky Note

Total - 4 marks.












Sticky Note

2 marks - both (i) and (ii) correct.







Sticky Note

1 mark - has given correct observation and reason.



Sticky Note

0 marks - observation is incorrect leading to incorrect reason.



Sticky Note

1 mark - Observation correct (1 mark) but no credit for reason as reference to no carbon dioxide being formed is missing.



Sticky Note

Total - 4 marks.












Sticky Note

2 marks - Both parts (i) and (ii) are correct.







Sticky Note

1 mark - Correct observation and reason given.



Sticky Note

0 marks - Incorrect observation and reason. 



Sticky Note

2 marks - correct observation and reason given.



Sticky Note

Total - 5 marks.
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2.	 (a)	 The following diagram shows an experiment that could be carried out in the laboratory to 
obtain ethene from decane, C10H22.


	 (i)	 Complete the following symbol equation for the reaction taking place.	 [1]


	C10H22	 	 +	 C2H4


	 (ii)	 Name the process which has taken place.	 [1]


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


mineral wool
soaked in decane broken china


heat


ethene, C2H4


. . . . . . . . . . . . . . . . . . . . . . . . . . . . .







(4462-02)04


Examiner
only


© WJEC CBAC Ltd.


	 (b)	 Ethene is a hydrocarbon.


		  The following diagram shows apparatus that can be used to investigate the products 
formed when ethene is burned.


	 (i)	 State what you would expect to happen to the limewater in test tube B and give the  
reason for your answer.	 [1]


	


	


	 (ii)	 The experiment was repeated with hydrogen being burned instead of ethene.


	 I.	 State what would be seen in test tube A. Give a reason for your answer.	 [2]


	


	


	 II.	 State and explain what would be seen in test tube B.	 [2]
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ethene burning
test tube A test tube B


to suction pump


limewater


beaker of ice and water


colourless liquid
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Question 
Number 


FT HT Mark Answer 


 10 6 Indicative content  
Temperature very high. Coke is oxidized to carbon monoxide. (2C + O2 → 2CO) 
Carbon monoxide reduced the iron ore to iron.  (3CO + Fe2O3  →   2Fe + 3CO2) 
Molten iron flows to the bottom of the furnace. Limestone is decomposed by heat to calcium oxide and carbon 
dioxide. The calcium oxide reacts with the impurities (sand/silica) to form slag which flows to the bottom of the 
furnace and floats on the molten iron.  
 
5-6 marks: The candidate constructs an articulate, integrated account correctly linking relevant points, such as 
those in the indicative content, which shows sequential reasoning. The answer fully addresses the question with 
no irrelevant inclusions or significant omissions. The candidate uses appropriate scientific terminology and 
accurate spelling, punctuation and grammar. 
 
3-4 marks: The candidate constructs an account correctly linking some relevant points, such as those in the 
indicative content, showing some reasoning. The answer addresses the question with some omissions. The 
candidate uses mainly appropriate scientific terminology and some accurate spelling, punctuation and grammar.  
 
1-2 marks: The candidate makes some relevant points, such as those in the indicative content, showing limited 
reasoning. The answer addresses the question with significant omissions. The candidate uses limited scientific 
terminology and inaccuracies in spelling, punctuation and grammar. 
 
0 marks: The candidate does not make any attempt or give a relevant answer worthy of credit. 
 


 
 












Sticky Note

2 marks - This is a lower band answer. There is a brief and partially correct indication of the functions of 3 raw materials and a superficial description of the Blast Furnace. This answer cannot access higher bands because there is no attempt to describe or explain the process of reduction.



Sticky Note

Total - 2 marks.












Sticky Note

4 marks - this is a middle band answer. Some functions of raw materials are given. An attempt has been made to explain reduction of iron oxide but it is unclear and incomplete. 



Sticky Note

Total - 4 marks.












Sticky Note

5 marks - This is a higher band answer.
The candidate has described and given functions of raw materials. They have described reduction although not fully but the chemical equation has strengthened the answer and outlined the major reduction process in the Blast Furnace.



Sticky Note

Total - 5 marks.
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10.	 The diagram below shows the blast furnace which is used to extract iron.
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iron ore, limestone 
and coke


hot air


slag
iron


	 Give a detailed description of the extraction of iron.	 [6 QWC]
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